

## Additional Funding Request

<b>NY067</b>	<b>CSS# 24495 WO# 7688 Asset# NA</b>										
Description of Repairs	Labor and materials to replace 4 nonfunctioning auto sink faucets with new manual lever faucets and hoses.										
Diagnosis: Initial Work Order	Utica four sinks not working in Bathrooms urgent do to Virus washing of hand needed										
Diagnostic Fee	\$160										
Additional Labor Cost to Perform Repairs	\$480 TW Labor 6 hours @ \$ 80										
Additional Material Cost to Perform Repairs	\$1216 <table border="1" style="margin-left: 20px;"> <tr> <td>Sink Faucet (Manual) 48YD93</td> <td>4</td> <td>\$288.00</td> <td></td> <td>\$1,152.00</td> </tr> <tr> <td>Connection Hoses 11K759</td> <td>8</td> <td>\$8.00</td> <td></td> <td>\$64.00</td> </tr> </table>	Sink Faucet (Manual) 48YD93	4	\$288.00		\$1,152.00	Connection Hoses 11K759	8	\$8.00		\$64.00
Sink Faucet (Manual) 48YD93	4	\$288.00		\$1,152.00							
Connection Hoses 11K759	8	\$8.00		\$64.00							
Total Cost of Repair	\$1856										



# WORK ESTIMATE

CSS #:

Work Order #:

Emergency

Urgent

Routine

Company Name:	Tidewater, Inc.	Facility ID:	NY067
Contractor POC:	Adam Colopy		
Telephone No:	740-819-6207	Building/Location; (e.g., Classroom/Room #)	Restroom
E-Mail Address:	<a href="mailto:adam.colopy@tideh2o.net">adam.colopy@tideh2o.net</a>		
Assigned Technician(s):	Patrick Brown		

## DESCRIPTION of WORK and EXPLANATION for REPAIRS or REPLACEMENT

Labor and materials to replace 4 non functioning auto sink faucets with new manual lever faucets and hoses.

LABOR/MATERIAL		MATERIAL/ SUB UNIT DOLLAR AMOUNT	LBR/HR \$80	LINE ITEM TOTAL DOLLAR AMOUNT
ITEM	QUANTITY			
Labor			6	\$480.00
Sink Faucet (Manual) 48YD93	4	\$288.00		\$1,152.00
Connection Hoses 11K759	8	\$8.00		\$64.00
Diagnostic Labor			2	\$160.00
SUB-TOTAL COSTS:		Materials Total	\$1,216.00	Labor \$640.00
TOTAL				\$1,856.00

[Cart](#)[Review](#)[Complete](#)**Delivery Method**

Shipping  
 Pickup

**Check Availability**

13027

[Go](#)[Proceed to Checkout](#)**Order Summary**Subtotal **\$231.25**

Estimated Standard Shipping

**\$13.57****Estimated Total \$244.82****My Products**[Show Reference Information](#) | [Clear Cart](#)

CHICAGO  
FAUCETS  
**Low Arc, Bathroom  
Sink Faucet,  
Wristblade Faucet  
Handle Type, 0.50  
gpm, Chrome**

Item # 48YD93

Price

**\$225.00 / each**

Availability  
Expected to arrive  
**Mon. Mar 16.**

Qty  
**1**  
[Update](#)  
[Remove](#)

**TOTAL  
\$225.00**

Availability, shipping, tax & promotions are not final until you complete your order.

[+ Add Promotional Code](#)

X 4



GRAINGER  
APPROVED  
**Water Connector, 3/8" x 1/2", Hose Fittings  
Brass 3/8" F Compression x Brass  
1/2" FIP, 3/8", 20"**

Item # 11K759

Price **\$6.25 / each**

Availability  
Expected to arrive  
**Mon. Mar 16.**

Qty  
**1**  
[Update](#)  
[Remove](#)

**TOTAL  
\$6.25**

X 8

If you changed multiple quantities, [Update All](#).

**Products You Have Recently Viewed**





